






(a) (b) (c) 





 (i,j) ?  BestSolution 

 
Update the trace level 
τij according to (18) 

No 

 Ant k has not completed its 
solution 

Input 
• m: the number of ants 
• Nbr_iter: the number 

of iterations 

 Select the next customer j, 
according to (15) and (16) 

 

     Update the trail level 

    
τij, according to (17) 

 

k=1 

 i = n and j = n 
 

BestObject = 0 
Iter = 1

 i = 0; j = 0 
 

t ij = t 0 

i++ and j++ 

i = 0; j = 0 

k=m 

 BestSolution= current solution 

 BestObjective= Objective of  the  current 
solution  Objective of the current 

solution< BestObjective 

k=k+1 

No 

Iter = iter+1 

Yes 

 I = n and j = n 

i++ and j++ 

OUTPUT 
BestSolution 

 

iter< Nbr_iter 
 

Yes 

No 

Yes 

Yes 

Yes 

No 

No 

Yes 

No 

Yes 
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